ANSWERS — VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS
Chapter 4, Members Subject to Bending and Extension problem 4.055, page 252

Remarks: See 84.6, pages 168 till 170
Answers:

a. Oy =15,75 N/mm?
b. 50 mm

Explanation:

a. M, =5,25 kNm

W, =1x(200 mm)(100 mm)? = 333,33x10°> mm®

~5,25%x10° Nmm
333,33x10° mm®

=15,75 N/mm?

O-max

6
O =222 R0 N 2 \jmm?2 =W, = 1bh? > 750x10° mm®

z
2 6x (750x10° mm?®)
a 200 mm

= h>150 mm

The original thickness was 100 mm, thus the minimum required
thickness of the wooden strip is 50mm
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